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{f )9} = £'()g(x) + f(x)g'(x)

p f(x) , f'(x)g(x) - f(x)g'(x)
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@ {logxy = {loguy =~ (2-1) {flog|x[y ==
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(2-2) {log, x} =
xloga
(3) {e'}y =¢ {e'¥Y =u'e" (3-1) {a‘} =a*loga

(4) {sinx} =cosx

{sinu} =u’cosu

(5) {cosx¥ =-sinx

{cosu} =-u'sinu

® {anxy = ftanuy =2, (1) Leotxy =
COS™ X cos™ u sin‘ x
M {sin* =2 | fsintuy=—2 (7-1) {Cos =~
1-x* Vi-u? 1-x?
(8) {Tan'x} = L {Tan'u} = u’
X +1 u? +1
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(01 y=x> (02) y=3x*-5x+4 (03) y=§ (04) yzi 05) y=3x"

3x°
(06) yzi 07) y=1x3—1+52/§ (08) y=(x*-3x+5)° (09) y= S
§/x 3 x (4x-7)°
(10) y=33x+5 (11 yzxi+1 (12) y=4XX_+23 (13) y=x}(x-1*

(14) y=log(3x+5) (15) y=log(x* +x-1) (16) y=Ilog|4x—3]
(17) y=log,|7x+4] (18) y=x’log(2x+1) (19) y=(2x+1)*logx

(20) y= Iog(?:(+2) (21) y=(+logx)® (22) y=3>" (23) y=¢""37
3x X —X\2 |Og X H
(24) y=(x-1e* (25) y=(e*+e™)? (26) y=— (27) y=xsinx
Sin X sin x
(28) y= (29) y=tan(2x+1) (30) y=e (31) y=log|cosx|
1+ cosx

(32) y=(+tanx)® (33) y=Sin3x (34) y=Cos-1§ (35) y:Tan‘lg

(86) y=(2x+3)* @B7) y=(x*-x+1° (38 y= Flsx (39) y=log(x* —x+1)

(40) y=e" (41) y=cos(2x+3) (42) y=tan(2x+3) (43) y=e® cos3x

2x

(44) y= ¢

= Sinax (45) y={log(2x+3)}° (46) y=cos’2x (47) y=+1-x*

_(2x+1)°
- (4x-1)°

(48) y=log(x++/x*+1) (49) y=x* (x>0) (50) vy




